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PART : 1 PHYSICS 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Q.1 to Q.27 Given below are single correct type
question. (Each correct answer carries three marks) 

 

Q.1 A positive charge (+ q) is located at the centre of
a circle as shown in figure. W1 is the work done
in taking a unit positive charge form A to B and
W2 is the work done in taking the same charge
from A to C. Then -       

 

A C 

B

+q

 
 (A) W1 > W2  (B) W1 < W2  
 (C) W1 = W2  (D) W1 = W2 = 0  
 
Q.2 Two wires of equal lengths, equal diameters and

having resistivities ρ1 and ρ2 are connected in
series. The equivalent resistivity of the
combination is   

  (A) (ρ1 + ρ2)  (B) 1/2 (ρ1 + ρ2) 

  (C) 
)( 21

21

ρ+ρ
ρρ  (D) 21ρρ  

 

Q.3 In the circuit shown in figure, the current through
the 10Ω resistor is   

 
3Ω

12Ω 10Ω

2Ω 

9V 

 
  (A) 1A  (B) A

2
1   

 (C) A
3
2   (D) A

6
5  

 

Q.1 ls Q.27 rd ds lHkh iz'u ,dy p;ukRed izdkj ds gSA
(izR;sd lgh mÙkj ds fy, 3 vad fu/kkZfjr gS) 

 

Q.1 ,d /kukRed vkos'k (+ q) fp=kkuqlkj ,d o`r ds dsUnz 
ij fLFkr gSA W1 ,dkad /kukRed vkos'k dks A ls B 
rd ykus esa fd;k x;k dk;Z gS rFkk W2 blh vkos'k dks 
A ls C rd ykus esa fd;k x;k dk;Z gSA rc -       

 

A C 

B

+q 

 
 (A) W1 > W2  (B) W1 < W2  
 (C) W1 = W2  (D) W1 = W2 = 0  
 

Q.2 cjkcj yEckbZ;ksa, cjkcj O;klksa rFkk ρ1 o ρ2

izfrjks/kdrkvksa okys nks rkj Js.kh esa tksM+s x;s gSA 
la;kstu dh rqY; izfrjks/kdrk gS   

  (A) (ρ1 + ρ2)  (B) 1/2 (ρ1 + ρ2) 

  (C) 
)( 21

21

ρ+ρ
ρρ  (D) 21ρρ  

 
Q.3 fp=k esa n'kkZ;s ifjiFk esa, 10Ω izfrjks/k ls izokfgr 

/kkjk gS  
 

3Ω

12Ω 10Ω

2Ω 

9V

 

  (A) 1A  (B) A
2
1   

 (C) A
3
2   (D) A

6
5  
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Q.4 In the circuit shown in figure, the equivalent 
resistance between points A and B is  

 

B

R 
R 

R 

R 

R 

R 

A 

 
  (A) 

4
R3  (B) 

2
R3   (C) 

10
R7  (D) 

9
R11  

 
Q.5 In the circuit shown in figure, the equivalent 

resistance between points A and B is   
 

B

R 

R R 

R R

A 

 
  (A) 

4
R3  (B) 

2
R   (C) R (D) 2R 

 

Q.6 A wire of resistance R is stretched to n times its 
original length. The resistance of the elongated 
wire is   

  (A) n R (B) nR  (C) n3/2R (D) n2R 
 

Q.7 The current I in the circuit shown in figure is   

30Ω

30Ω
30Ω

2V 

I

 
  (A) A

45
1  (B) A

15
1   (C) A

10
1  (D) A

5
1  

 

Q.4 fp=k esa n'kkZ;s ifjiFk esa, fcUnqvksa A o B ds chp rqY;
izfrjks/k gS - 

 

B

R 
R 

R 

R 

R

R

A

 
  (A) 

4
R3  (B) 

2
R3   (C) 

10
R7  (D) 

9
R11  

 

Q.5 fp=k esa n'kkZ;s ifjiFk esa, fcUnqvksa A o B ds chp rqY;
izfrjks/k gS  

 
B

R 

R R

R R 

A

 
  (A) 

4
R3  (B) 

2
R   (C) R (D) 2R 

 

Q.6 R izfrjks/k dk ,d rkj bldh okLrfod yEckbZ ds n 
xquk rd [khapk tkrk gSA izlkfjr rkj dk izfrjks/k gS 

  (A) n R (B) nR  (C) n3/2R (D) n2R 
 

Q.7 fp=k esa n'kkZ;s ifjiFk esa /kkjk I gS  

30Ω

30Ω
30Ω

2V

I

 
  (A) A

45
1  (B) A

15
1   (C) A

10
1  (D) A

5
1  
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Q.8 A wire of resistance 4Ω is bent into a circle. The 
resistance between the ends of a diameter of the
circle is    

  (A) 4Ω  (B) 1Ω 

  (C) Ω
4
1   (D) Ω

16
1  

 

Q.9 Figure shows currents in a part of an electrical
circuit. The current i is   

 

i 

1.3A

R 

Q

1A 

P

2A 

2A 

 
  (A) 1A  (B) 1.3A 
  (C) 1.7A  (D) 3.7A 
 

Q.10 A 100 W bulb B1, and two 60W bulbs B2 and B3, 
are connected to a 250 V source, as shown in
figure. Now W1, W2 and W3 are the output
powers of the bulbs B1, B2 and B3, respectively.
Then  

B3 

B2 B1 

250V

100W 60W

60W

 
  (A) W1 > W2 = W3 (B) W1 > W2 > W3 
  (C) W1 < W2 = W3 (D) W1 < W2 < W3 
 

Q.11 A 220 V - 100W bulb is connected to a 110 V
source. The power consumed by the bulb will be

  (A) 200 W  (B) 100 W  
 (C) 25 W  (D) zero 

Q.8 4Ω izfrjks/k dk ,d rkj ,d o`r esa eksM+k x;k gSA 
o`r ds O;kl ds fljksa ds chp izfrjks/k gS  

  (A) 4Ω  (B) 1Ω 

  (C) Ω
4
1   (D) Ω

16
1  

 

Q.9 fp=k ,d fo|qr ifjiFk ds ,d Hkkx esa /kkjk,sa iznf'kZr 
djrk gSA /kkjk i gS   

i 

1.3A

R 

Q 

1A 

P

2A

2A

 
  (A) 1A  (B) 1.3A 
  (C) 1.7A  (D) 3.7A 
 

Q.10 ,d 100 W cYc B1 rFkk 60W ds nks cYc B2 o B3, 
fp=kkuqlkj 250 V ds L=kksr ls tksM+s x;s gSA vc 
W1, W2 rFkk W3 Øe'k% B1, B2 o B3 cYcksa dh 
'kfDr;k¡ gS, rc  

B3 

B2 B1

250V

100W 60W

60W

 
  (A) W1 > W2 = W3 (B) W1 > W2 > W3 
  (C) W1 < W2 = W3 (D) W1 < W2 < W3 
 

Q.11 220 V - 100W dk ,d cYc 110 V ds L=kksr ls 
tksM+k x;k gSA cYc }kjk miHkksx dh xbZ 'kfDr gksxh 

  (A) 200 W  (B) 100 W  
 (C) 25 W  (D) zero 
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Q.12 A current carrying wire AB is placed near
another CD as shown in figure. Wire CD is fixed
while wire AB is free to move. When a current is
passed through wire AB, it will have 

 

I2 A I1 B

C

D  
  (A) only translational motion 
 (B) only rotational motion 

  (C) both translational as well as rotational
motions 

 (D) neither translational nor rotational motion. 
 

Q.13 When a charged particle moves perpendicular to
a uniform magnetic field, its  

  (A) energy and momentum both change 
 (B) energy changes but momentum remains

unchanged 
  (C) momentum changes but energy remains

unchanged 
 (D) energy and momentum both do not change 
 

Q.14 In the region around a charge at rest, there is   
  (A) electric field only  
 (B) magnetic field only   
 (C) nither electric nor magnetic field 
 (D) electric as well as magnetic field 
 

Q.12 ,d /kkjkokgh rkj AB fp=kkuqlkj nwljs /kkjkokgh rkj 

CD ds fudV fLFkr gSA rkj CD fQDl gS tcfd rkj 

AB xfr ds fy, Lora=k gSA tc /kkjk AB rkj ls 

izokfgr gksrh gS, ;g  

 

I2 A I1 B

C

D  
  (A) dsoy LFkkukUrj.k xfr djsxh 

 (B) dsoy ?kw.kZu xfr djsxh  

  (C) LFkkukUrj.k o ?kw.kZu nksuksa xfr djsxh  

 (D) u rks LFkkukUrj.k o u gh ?kw.kZu xfr djsxh  
 

Q.13 tc ,d vkosf'kr d.k ,dleku pqEcdh; {ks=k ds 

yEcor~ xfr djrk gS, blds  

  (A) ÅtkZ o laosx nksuksa ifjofrZr gksrs gS  

 (B) ÅtkZ ifjofrZr ijUrq laosx vifjofrZr jgrk gS  

  (C) laosx ifjofrZr ijUrq ÅtkZ vifjofrZr jgrh gS  

 (D) ÅtkZ o laosx nksuksa ifjofrZr ugha gksrs gS  
 

Q.14 fojke ij ,d vkos'k ds pkjksa vksj {ks=k esa fo|eku gksrk gS

  (A) dsoy fo|qr {ks=k  

 (B) dsoy pqEcdh; {ks=k   

 (C) u rks fo|qr vkSj u gh pqEcdh; {ks=k  

 (D) fo|qr rFkk pqEcdh; {ks=k nksuksa  
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Q.15 Which pattern shown in figure correctly
represents the magnetic field lines due to bar
magnet ?  

 

 

(A) 

N 

S  

 

 

(B)

N 

S  

 

 

(C) 

N 

S  

 

 

(D)

N 

S  
 
Q.16 Two circular co-axial coils of equal radii carry

equal currents circulating in the same direction.
If the coils are moved towards each other  

  (A) the current in each coils will increase 
 (B) the current in each coils will decrease 
  (C) the current in each coil will remain the same

 (D) the current in one coil will increase and in
the coil the current will decrease. 

 

Q.17 A hollow thin convex lens made of glass is 
placed in air. It will behave like a  

  (A) convex lens (B) concave lens 
  (C) prism  (D) glass plate 
 

Q.15 fp=k esa iznf'kZr dkSulk izk:i, NM+ pqEcd ds dkj.k 
pqEcdh; {ks=k js[kkvksa dks lgh :i ls iznf'kZr djrk 
gS ?  

 

 

(A)

N

S  

 

 

(B)

N

S  

 

 

(C)

N

S  

 

 

(D)

N

S  
 

Q.16 leku f=kT;kvksa dh nks o`Ùkkdkj lek{kh; dq.Mfy;ksa 
esa ,dleku fn'kk esa cjkcj /kkjk izokfgr gks jgh gSA 
;fn dq.Mfy;k¡ ,d&nwljs dh vksj xfr djrh gS  

  (A) izR;sd dq.Myh esa /kkjk c<s+xh  
 (B) izR;sd dq.Myh esa /kkjk ?kVsxh    
 (C) izR;sd dq.Myh esa /kkjk leku jgsxh  

 (D) igyh dq.Myh esa /kkjk c<+sxh rFkk nwljh esa /kkjk 
?kVsxh  

 

Q.17 dk¡p dk cuk ,d [kks[kyk iryk mÙky ysal ok;q esa 
fLFkr gSA ;g fdldh rjg O;ogkj djsxk  

  (A) mÙky ySal (B) vory ySal  
  (C) fizTe  (D) dk¡p dh IysV 
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Q.18 A lens of power +2.0 D is placed in contact with 
another lens of power – 1.0 D. The combination 
will behave like  

  (A) a converging lens of focal length 100 cm 
  (B) a diverging lens of focal length 100 cm 
  (C) a converging lens of focal length 50 cm 
 (D) a diverging lens of focal length 50 cm 
 

Q.19 A concave lens of focal length f form an image 
which in n times the size of the object. The 
distance of the object from the lens is   

  (A) f
n

n1






 −  (B) f

n
n1







 +    

  (C) (1– n)f  (D) (1 + n)f 
 

Q.20 A parallel beam of light falls on a convex lens. 
The path of the rays is shown in figure. It follows 
that   

 

µ1 µ µ2

 
  (A) µ1 > µ > µ2 (B) µ1 < µ < µ2 

  (C) µ1 = µ < µ2 (D) µ1 = µ > µ2 
 

Q.21 A converging lens is used to form an image on a 
screen. When the upper half of the lens is 
covered by an opaque screen.  

  (A) half the image will disappear 
 (B) complete image will be formed 
  (C) intensity of the image will increase 
 (D) none of these 
 
 

Q.18 +2.0 D 'kfDr dk ,d yasl – 1.0 D 'kfdr ds nwljs 

ysal ds lkFk lEidZ esa fLFkr gSA la;kstu O;ogkj 

djsxk &  
  (A) 100 cm Qksdl nwjh ds vfHklkjh ysal dh rjg 
  (B) 100 cm Qksdl nwjh ds vilkjh yasl dh rjg 
  (C) 50 cm Qksdl nwjh ds vfHklkjh ysal dh rjg 
 (D) 50 cm Qksdl nwjh ds vilkjh ysal dh rjg 
 

Q.19 f Qksdl nwjh dk ,d vory ysal ,d izfrfcEc 
fufeZr djrk gS tks oLrq ds vkdkj dk n xquk gSA 
yasl ls oLrq dh nwjh gS  

  (A) f
n

n1






 −  (B) f

n
n1







 +    

  (C) (1– n)f  (D) (1 + n)f 
 

Q.20 izdk'k dk ,d lekUrj iqat mÙky ysal ij fxjrk gSA
fdj.kksa dk iFk fp=k esa n'kkZ;k x;k gSA ;g n'kkZrk gS 
fd  

 

µ1 µ µ2

 
  (A) µ1 > µ > µ2 (B) µ1 < µ < µ2 

  (C) µ1 = µ < µ2 (D) µ1 = µ > µ2 
 

Q.21 ,d mÙky ysal ,d insZ ij ,d izfrfcEc fufeZr 
djus ds fy, iz;qDr fd;k x;k gSA tc ysal dk 
Åijh vk/kk Hkkx ,d vLi"V insZ ls <+d fn;k tk;s  

  (A) vk/kk izfrfcEc vLi"V gks tk,xk  

 (B) lEiw.kZ izfrfcEc fufeZr gksxk  
  (C) izfrfcEc dh rhozrk c<s+xh  
 (D) buesa ls dksbZ ugha  
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 Q.22 When a ray of light enters a glass slab from air,  
  (A) its wavelength decreases 
 (B) its wavelength increases 
  (C) its frequency increases 
 (D) neither wavelength nor frequency changes 
 

Q.23 The linear magnification of an object placed on 
the principle axis of a convex lens of focal length 
30 cm is found to be +2. Object distance is   

  (A) – 10 cm  (B) – 15 cm 
  (C) – 20 cm  (D) – 25 cm 
 

Q.24 What is the relation between refractive indices µ, 
µ1 and µ2 if the behaviour of light rays is as 
shown in figure. 

 

µ1 µ µ2

 
 (A) µ > µ2 > µ1 (B) µ < µ2 < µ1 

  (C) µ < µ2 ; µ = µ1 (D) µ2 < µ1 ; µ = µ2 
 

Q.25 A given ray of light suffers minimum deviation 
in an equilateral prism P. Additional prisms Q 
and R of identical shape and of the same material 
as P are now added as shown in figure. The ray 
will now suffer   

 

P
Q

R

 
  (A) greater deviation 
 (B) no deviation 
  (C) same deviation as before 
 (D) total internal reflection 
 

 

Q.22 tc ,d izdk'k fdj.k ok;q ls dk¡p Lysc esa izos'k djrh gS, 
  (A) bldh rjaxnS/;Z ?kVrh gS  
 (B) bldh rjaxnS/;Z c<+rh gS  
  (C) bldh vko`fÙk c<+rh gS  
 (D) u rks rjaxnS/;Z vksj u gh vko`fÙk ifjofrZr gksrh gS 
 

Q.23 30 cm Qksdl nwjh ds mÙky ysal ds eq[; v{k ij 
fLFkr ,d oLrq dk jsf[kd vko/kZu +2 ik;k tkrk gSA 
oLrq dh nwjh gS  

  (A) – 10 cm  (B) – 15 cm 
  (C) – 20 cm  (D) – 25 cm 
 

Q.24 viorZukadksa µ, µ1 o µ2 ds chp laca/k D;k gS ;fn 

izdk'k fdj.kksa dk O;ogkj fp=k eas n'kkZ;k x;k gSA 

 

µ1 µ µ2

 
 (A) µ > µ2 > µ1 (B) µ < µ2 < µ1 

  (C) µ < µ2 ; µ = µ1 (D) µ2 < µ1 ; µ = µ2 
 

Q.25 ,d nh xbZ izdk'k fdj.k lef}ckgq fizTe P esa 

U;wure fopyu r; djrh gSA vfrfjDr fizTe Q o 
R, P ds leku vkdkj o inkFkZ ls cus gS] fp=kkqulkj 

tksM+s x;s gSA fdj.k vc r; djsxh  
 

P
Q

R

 
  (A) vf/kdre fopyu 
 (B) dksbZ fopyu ugh 
  (C) igys ds leku fopyu  
 (D) iw.kZ vkUrfjd ijkorZu  
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Q.26 Which one of the spherical lenses shown in 
figure does not exhibit dispersion ? The radii of 
curvature of the surfaces of the lenses are as 
given in the diagrams.  

 (A) 

 

R2R1  (B) 

 

∞R   

 (C)

 

 

RR   (D) 

 

∞R

 
 

Q.27 A concave mirror is placed on a horizontal table, 
with its axis directed vertically upwards. Let O 
be the pole of the mirror and C its centre of 
curvature. A point object is placed at C. It has a 
real image, also located at C. If the mirror is now 
filled with water, the image will be  

 

C

 
  (A) real and will remain at C 
 (B) real and located at a point between C and infinity
  (C) virtual and located at a point between C and O
 (D) real and located at a point between C and O. 

 

Q.28 to Q.30 Given below are passage based 
questions, each has Single correct answer. (Each 
correct answer carries three marks) 
Passage : (Q.28 to Q.30) 
 Focal length of a lens depends on the colour of 

light and radius of curvature of surfaces. When 
wave of different frequencies approaches the 
lens, that ray converge more whose frequency is 
larger & parallel beam converge at a point on the 
axis, named as a focal point.  

 

Q.26 fp=k esa n'kkZ;s fuEu esa dkSuls xksykdkj ysal fo{ksi.k 
ugha n'kkZrs gS ? ysalks dh lrgksa dh oØrk f=kT;k,sa 
fp=k esa nh xbZ gSaA 

 (A) 

 

R2R1  (B) 

 

∞R   

 (C)

 

 

RR   (D) 

 

∞R

 
 

Q.27 ,d vory niZ.k ,d {kSfrt est ij fLFkr gS 
ftldk v{k m/okZ/kj Åij dh vksj gSA ekuk O niZ.k 
dk /kzqo gS rFkk C bldk oØrk dsUnz gSA ;g C ij 
,d okLrfod izfrfcEc Hkh j[krk gSA ;fn vc niZ.k 
ty ls Hkj tk;s rks izfrfcEc gksxk  

C

 
  (A) okLrfod rFkk C ij gh jgsxk 
 (B) okLrfod rFkk C o vuUr ds chp fLFkr gksxk  
  (C) vkHkklh o C o O ds chp fLFkr gS 
 (D) okLrfod rFkk C o O ds chp fLFkr gSA 

 

Q.28 ls Q.30 ds lHkh iz'u x|ka'k ij vk/kkfjr gS] izR;sd ,dy 
p;ukRed iz'u gS (izR;sd lgh mÙkj ds fy, 3 vad fu/kkZfjr gS)
x|ka'k : (Q.28 ls Q.30) 
 ,d ysal dh Qksdl nwjh izdk'k ds jax o i`"Bksa dh 

oØrk f=kT;k ij fuHkZj djrh gSA tc fofHkUu 
vko`fÙk;ksa dh rjax ysal rd igq¡prh gS rks og fdj.k 
vf/kd vfHklkfjr gksrh gS ftldh vko`fÙk vf/kdre gS 
rFkk lekUrj iqat dks ,d v{k tks Qksdl fcUnq gS]
ij vfHklkjh djrs gSA 
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Q.28 When a parallel white light falls on a convex 
lens, the colour meeting the axis close to the 
optical axis will be - 

 (A) Red   
 (B) Blue 
 (C) Violet   
 (D) All at the same point 
 

Q.29 If the focal length for violet and red colours are 
fv and fr respectively, then - 

 (A) fv = fr  (B) fv > fr 
 (C) fv < fr  (D) fv = 2fr 
 
Q.30 A concave lens forms - 
 (A) always virtual image 
 (B) always real image  
 (C) virtual image for real object 
 (D) virtual image for a virtual object 
 
 

Q.28 tc ,d 'osr lekUrj iqat ,d mÙky ysal ij fxjrk 
gS] rks izdkf'kd v{k ds fudV v{k ij feyus okyk
jax gksxk - 

 (A) yky   
 (B) uhyk 
 (C) cSaxuh  
 (D) lHkh leku fcUnq ij feyrs gS  
 

Q.29 cSaxuh o yky jaxksa ds fy, nks Qksdl nwfj;k¡ Øe'k% 
fv o fr gS, rc  

 (A) fv = fr  (B) fv > fr 
 (C) fv < fr  (D) fv = 2fr 
 

Q.30 ,d vory ysal fufeZr djrk gS  
 (A) ges'kk vkHkklh izfrfcEc  
 (B) ges'kk okLrfod izfrfcEc   
 (C) okLrfod oLrq ds fy, vkHkklh izfrfcEc  
 (D) vkHkklh oLrq ds fy, vkHkklh izfrfcEc  
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PART : 2 CHEMISTRY 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Q.1 to Q.27 Given below are single correct
answer type questions. (Each correct answer 
carries three marks) 

 
Q.1 Example of an alloy is : 
 (A) Copper (B) Brass 
 (C) Nickel (D) Iron 
 

Q.2 Which one forms ionic compound with chlorine?
 (A) Ca  (B) N  
 (C) H  (D) P 
 

Q.3 Fifth state of matter is:  
 (A) Semi-solid state (B) plasma state 
 (C) semi-liquid state (D) BEC 
 

Q.4 Formula of gypsum is - 
 (A) CaSO4.1/2H2O (B) CaSO4.2H2O  
 (C) CaCO3 (D) Na2CO3 
 

Q.5 Total number of atoms in 4.4 mg of CO2 is : 
 (A) 1.806 ×1023 (B) 1.806 × 1020 

 (C) 6.02 × 1022 (D) 6.02 × 1019 
 

Q.6 Which metal can displace Cu from CuSO4 ?  

 (A) Ag (B) Au  
 (C) Fe (D) None   

 

Q.7 Fire extinguisher Contains 

 (A) NaCl and HCl (B) NaHCO3 and H2SO4   

 (C) CaCl2 and HCl (D) NaHSO4 and HCl  
 

 

uhps fn;s x;s Q.1 ls Q.27  rd ds fy, fy, 
,d gh lgh fodYi gS (izR;sd lgh mÙkj ds fy, 
rhu vad gS) 

 

Q.1 feJ/kkrq dk mnkgj.k gS & 
 (A) dkWij  (B) czkl ¼ihry½ 
 (C) fufdy  (D) yksgk 

 

Q.2 fuEu esa ls dkSu Dyksjhu ds lkFk vk;fud ;kSfxd 
curk gS & 

 (A) Ca  (B) N  
 (C) H  (D) P 
 

Q.3 nzO; dh ikapoh voLFkk gS &  
 (A) v)Z&Bksl voLFkk (B) IykTek voLFkk 

 (C) v)Z&nzo voLFkk (D) BEC 
 

Q.4 ftIle dk lw=k gS & 
 (A) CaSO4.1/2H2O (B) CaSO4.2H2O  
 (C) CaCO3 (D) Na2CO3 

 

Q.5 4.4 mg CO2 esa dqy fdrus ijek.kq gS & 

 (A) 1.806 ×1023 (B) 1.806 × 1020 

 (C) 6.02 × 1022 (D) 6.02 × 1019 

 

Q.6 dkSulh /kkrq CuSO4 ls Cu dks foLFkkfir djsxh ?  

 (A) Ag (B) Au  
 (C) Fe (D) dksbZ ugha 

 
Q.7 vfXu'kked esa gksrs gS 

 (A) NaCl rFkk HCl (B)NaHCO3 rFkk H2SO4   
 (C) CaCl2 rFkk HCl (D) NaHSO4 rFkk HCl  
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Q.8 The process of heating an ore in the presence of 
excess of air, below its melting point, is called ? 

 (A) roasting (B) calcination 
 (C) smelting (D) sublimation 

 

Q.9 An element with atomic number 19 will most 
likely combine with the element whose atomic 
number is - 

 (A) 17 (B) 11 
 (C) 18 (D) 20 

 

Q.10 Which of the following bonds has the highest 
energy content – 

 (A) —C—C—  
 (B) —C=C— 
 (C) —C≡C—   
 (D) all of the above possess the same amount 
 

Q.11 A catalyst is a substance which 
 (A) alters the state of equilibrium 
 (B) is required in large amounts to alter the state 

of equilibrium 
 (C) alters the speed of a reaction 
 (D) none of the above 
 

Q.12 The gas equation PV = nRT is derived from –  
 (A) Boyle's law (B) charle's law 
 (C) both a & b (D) Gay-Lussac's law 
 

Q.13 Dry ice is - 
 (A) steam   
 (B) Ice at — 400°C 
 (C) solidified CO2  
 (D) Ice treated with anhydrous CaCl2 
 

Q.8 ok;q ds vkf/kD; dh mifLFkfr es v;Ld dks mlds 
xyukad ls uhps xeZ djuk] dgykrk gS ? 

 (A) HktZu (B) fuLrkiu 
 (C) izxyu (D) Å/oZikru 

 

Q.9 ,d rRo ftldk ijek.kq Øekad 19 gS og lokZf/kd 

vklkuh ls ml rRo ds lkFk la;ksftr gks tk;sxk 

ftldk ijek.kq Øekad fuEu gksxk - 
 (A) 17 (B) 11 

 (C) 18 (D) 20 
 

Q.10 fuEu esa ls fdl cU/k dh ÅtkZ dh ek=k vf/kdre 

gS – 
 (A) —C—C—  
 (B) —C=C— 
 (C) —C≡C—  
 (D) mijksDr lHkh dh ÅtkZ,sa leku gaS 
 
 

Q.11 ,d mRizsjd ,d inkFkZ gS tks 
 (A) lkE; dh voLFkk dks ifjofrZr djrk gS 

 (B) lkE; dh voLFkk dks ifjofrZr djus ds fy, 

bldh vf/kd ek=k dh vko';drk gksrh gSA 
 (C) ;g vfHkfØ;k dh xfr dks ifjofrZr djrk gS 
 (D) buesa ls dksbZ ugha 
 
 

Q.12 xSl lehdj.k PV = nRT O;qRiUu gksrh gS –  
 (A) ckW;y fu;e (B) pkYlZ fu;e 
 (C) nksuksa A rFkk B (D) xs&yqlkd dk fu;e 
 

 

Q.13 'kq"d cQZ gS - 
 (A) Hkki   
 (B) cQZ — 400°C ij 
 (C) Bksl CO2  
 (D) futZy CaCl2 ls mipkfjr cQZ 
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Q.14 The NH3 molecule has – 
 (A) no lone pairs  
 (B) one lone pair 
 (C) two lone pairs  
 (D) three lone pairs 
 

Q.15 Liquefied petroleum gas consists mainly of – 
 (A) methane, butane and propane 
 (B) methane, ethane and hexane 
 (C) ethane, hexane and nonane 
 (D) none of these 
 

Q.16 The reaction, H2 + Cl2 → 2HCl is – 
 (A) An oxidation reaction 
 (B) A reduction reaction 
 (C) A combination reaction 
 (D) All of the above  
 

Q.17 Which of the statements about the reaction below
are correct ?  

2PbO(s) + C(s) → 2Pb(s) + CO2(g) 
 (i) Lead is neither oxidised nor reduced  
 (ii) Carbon dioxide is getting oxidised 
 (iii) Carbon is getting oxidised 
 (iv) Lead oxide is getting reduced  
 (A) (i) and (ii)  (B) (iii) and (iv) 
 (C) (i), (ii) and (iii)  (D) All 
 

Q.18 In the reaction, H2S + Cl2 → 2HCl + S, the

electrons are transferred from – 

 (A) S2– to S (B) Cl2 to HCl 
 (C) S2– to Cl2  (D) H2S to S  
 

Q.14 NH3 v.kq j[krk gS – 
 (A) dksbZ ,dkdh ;qXe ugha 
 (B) ,d ,dkdh ;qXe 
 (C) nks ,dkdh ;qXe  
 (D) rhu ,dkdh ;qXe 
 
Q.15 nzfor isVªksfy;e xSl (LPG) esa eq[;r% gksrs gS & 
 (A) esFksu] C;qVsu rFkk izksisu 
 (B) esFkssu] ,Fksu rFkk gsDlsu 
 (C) ,Fksu] gsDlsu rFkk ukWusu 
 (D) buesa ls dksbZ ugha 
 
Q.16 vfHkfØ;k H2 + Cl2 → 2HCl gS& 
 (A) ,d vkWDlhdj.k vfHkfØ;k 
 (B) ,d vip;u vfHkfØ;k 
 (C) ,d la;kstu vfHkfØ;k 
 (D) mijksDr lHkh 
 

 

Q.17 uhps nh xbZ vfHkfØ;k ds lanHkZ esa dkSulk dFku lR; 
gS\ 

2PbO(s) + C(s) → 2Pb(s) + CO2(g) 
 (i) ysM u rks vipf;r gksrk gS] u gh vkWDlhd`r 
 (ii) dkcZuMkbZvkWDlkbM vkWDlhd`r gksrh gS 

 (iii) dkcZu vkWDlhd`r gksrh gS 
 (iv) ysM vkWDlkbM vipf;r gksrk gS 
 (A) (i) rFkk (ii)  (B) (iii) rFkk (iv) 
 (C) (i), (ii) rFkk (iii)  (D) lHkh 
 

Q.18 vfHkfØ;k H2S + Cl2 → 2HCl + S esa bysDVªkWu 

LFkkukUrfjr gksrs gS& 
 (A) S2– ls S dh vksj  (B) Cl2 ls HCl dh vksj 

 (C) S2– ls Cl2 dh vksj (D) H2S ls S dh vksj 
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Q.19 In the balanced equation- 
a Fe2O3 + b H2 → c Fe + d H2O 

 The values of a, b, c and d are the respectively : 
 (A) 1 1 2 3    (B) 1 1 1 1  
 (C) 1 3 2 3   (D) 1 2 2 3 
 

Q.20 The purest form of C is – 
 (A) diamond (B) wood charcoal 
 (C) coal  (D) coffee 
 

Q.21 The pH of a solution is 3. When its pH changes
to 5, then H+ ion concentration- 

 (A) increases two times  
 (B) decreases two times  
 (C) increases 100 times  
 (D) decreases 100 times 
 

Q.22 When black copper oxide placed in a beaker is
treated with dilute HCl, its colour changes to  

 (A) white  (B) dark red 
 (C) bluish green (D) no change 
 

Q.23 Which of the following will undergo addition
reaction ? 

 (A) C2H4   (B) C2H6  
 (C) CH4  (D) C3H8 
 

Q.24 Which of the following pairs of elements does
not belong to same group? 

 (A) Cl, Br  (B) N, P  
 (C) Mg, Ca (D) Al, Si 
 

Q.25 An element A has three electrons in it's outer most
orbit and another element B has six electrons in
it's outer most orbit. The formula of the compound
formed between A & B will be  

 (A) AB  (B) A2B3  
 (C) A3B2  (D) AB3 

Q.19 lUrqfyr vfHkfØ;k esa  
a Fe2O3 + b H2 → c Fe + d H2O 

 a, b, c rFkk d dk eku Øe'k% gS & 
 (A) 1 1 2 3    (B) 1 1 1 1  
 (C) 1 3 2 3   (D) 1 2 2 3 
 
Q.20 dkcZu dk 'kq)Ùke :i gS – 
 (A) ghjk• • (B) ydM+h dk pkjdksy 
 (C) dks;yk  (D) dkWQh  
 

Q.21 foy;u dh pH 3 gSA tc bldh pH 5 gks tkrh gS rks 
H+ vk;u dh lkUnzrk& 

 (A) nks xquk c<+ tkrh gS  
 (B) nks xquk de gks tkrh gS  
 (C) 100 xquk c<+ tkrh gS  
 (D) 100 xquk de gks tkrh gS 
 
Q.22 tc chdj es j[ks dkys dkWij vkWDlkbM dks ruq HCl ds 

lkFk xeZ fd;k tkrk gS rks bldk jax ifjorZu gksxk& 
 (A) 'osr  (B) xgjk yky  
 (C) uhyk&gjk (D) dksbZ ifjorZu ugha 
 

Q.23 fuEu esa ls fdldh ;ksxkRed vfHkfØ;k,sa gksrh gS& 

 (A) C2H4   (B) C2H6  
 (C) CH4  (D) C3H8 

 

Q.24 fuEu esa ls dkSuls rRoksa dk ;qXe leku lewg ls 
lEcfU/kr gS& 

 (A) Cl, Br  (B) N, P  
 (C) Mg, Ca (D) Al, Si 
 

Q.25 ,d rRo A mlds ckg~;re dks'k esa rhu bysDVªkWu 
j[krk gS rFkk vU; rRo B mlds ckg~;re dks'k esa N%
bysDVªkWu j[krk gS rks A o B ds e/; fufeZr ;kSfxd 
dk lw=k gksxk  

 (A) AB  (B) A2B3  
 (C) A3B2  (D) AB3 
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Q.26 Average atomic mass of chlorine is 35.5. What is 
the % ratio of Cl35 & Cl37 

 (A) 75 : 25 (B) 33.3 : 66.7 
 (C) 20 : 80 (D) 40 : 60 
 

Q.27 An atom which loses it's valence electron readily 
is said to be 

 (A) electronegative (B) electropositive 
 (C) radioactive (D) none of these 

 
Q.28 to Q.30 Given below are passage based 
questions, each has Single correct answer. 
(Each correct answer carries three marks) 
 

Passage based Question : (Q.28 to Q.30) 
 One Mole substance means amount of substance 

which contain 6.023 × 1023 particle ( no. of atom, 
no. of molecule, no .of ions etc)  

 eg.  1 Mole C atom ≡ 6.023 × 1023 carbon atom 
 1 Mole H2 ≡ 6.023 × 1023 Hydrogen molecule 
 ≡ 2 × 6.023 × 1023 Hydrogen atom 
 No. of moles can be related with Mass of 

substance, Volume of substance (gases) & No of 
particle in following way 

 1 Mole = 6.023 × 1023 particle = Gram mol. wt or 
Gram At wt = 22.4 L  at S.T.P. (for gas) e.g.  1 
Mole CO2 = 6.023 × 1023 CO2 molecule 
= 44g = 22.4 L at S.T.P. where  

 gram molecular wt = wt. of molecule expressed 
in gram. It is the mass of 1 mole molecule. 

 Gram atomic wt = wt. of atom expressed in 
grams. It is the mass of 1 mole atom. 

 
 

Q.26 Dyksjhu dk vkSlr ijek.kqHkkj 35.5 gS rks Cl35 o Cl37

dk % vuqikr D;k gksxk 
 (A) 75 : 25 (B) 33.3 : 66.7 

 (C) 20 : 80 (D) 40 : 60 
 

Q.27 og ijek.kq tks fd mlds la;ksth bysDVªkWuks dks 
vklkuh ls fudky nsxk og dgykrk gS 

 (A) fo|qr_.kkRed (B) fo|qr/kukRed 
 (C) jsfM;kslfØ; (D) buesa ls dksbZ ugha 
 
 

 uhps fn;s x;s Q.28 ls Q.30  x|ka'k ij vk/kkfjr 
iz'u gS] izR;sd dk ,d lgh fodYi gS (izR;sd lgh 
mÙkj ds fy, rhu vad gS) 

 
 

x|ka'k ij vk/kkfjr iz'u: (Q.28 ls Q.30) 
 ,d eksy inkFkZ dk vFkZ gS inkFkZ dh og ek=k tks fd 

6.023 × 1023 d.k (ijek.kq dh la[;k] v.kq dh la[;k] 

vk;uks dh la[;k vkfn) j[krh gSA  
 eg.  1 eksy C ijek.kq ≡ 6.023 × 1023 dkcZu ijek.kq 
 1 eksy H2 ≡ 6.023 × 1023 gkbMªkstu v.kq 
 ≡ 2 × 6.023 × 1023 gkbMªkstu ijek.kq 
 eksyks dh la[;k inkFkZ ds nzO;eku] inkFkZ (xSlsa) ds 

vk;ru o d.kksa dh la[;k ls fuEu:i ls laca/k 

j[krh gS 

 1 eksy = 6.023 × 1023 d.k = xzke v.kqHkkj = STP (xSl ds 

fy,) ij 22.4 L e.g.  1 eksy CO2  = 6.023 × 1023 CO2

v.kq  = 44g = STP ij 22.4 L  tgk¡  
 xzke v.kqHkkj = xzke esa iznf'kZr v.kq dk Hkkj ;g1 eksy 

v.kq dk nzO;eku gksrk gSA 
 xzke ijek.kq Hkkj = xzke esa iznf'kZr ijek.kq dk Hkkj  
 ;g 1 eksy ijek.kq dk nzO;eku gksrk gSA 
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   Q.28 How many no. of atoms present in 1 mole  NH3 

 (A) 3 × 6.023 × 1023 (B) 4 × 6.023 × 1023 

 (C) 6.023 × 1023 (D) 4 
 

Q.29 Which is heaviest 

 (A) 1 Mole CO2  

 (B) 2 Mole NH3 

 (C) 1 Mole CH3COOH  

 (D) 2 Mole H2O 
 

Q.30 Volume of CO2 gas at S.T.P. when wt of gas is 

88 g 

 (A) 2L  (B) 22.4 L  

 (C) 44.8L  (D) 4.48 L 

 

 
 

 
 

Q.28 1 eksy  NH3 esa mifLFkr ijek.kqvksa dh la[;k gS& 

 (A) 3 × 6.023 × 1023 (B) 4 × 6.023 × 1023 

 (C) 6.023 × 1023 (D) 4 
 

Q.29 fuEu es ls dkSulk lcls Hkkjh gS 
 (A) 1 eksy CO2  
 (B) 2 eksy NH3 

 (C) 1 eksy CH3COOH  

 (D) 2 eksy H2O 
 

Q.30 STP ij CO2 xSl dk vk;ru D;k gksxk tc xSl dk 

Hkkj 88 g gks 

 (A) 2L  (B) 22.4 L  
 (C) 44.8L  (D) 4.48 L 
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PART : 3 MATHEMATICS 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Q.1 to Q.27 Given below are single correct
answer type questions. (Each correct answer 
carries three marks) 

 
Q.1 Which of the following is not the graph of a

quadratic polynomial ? 
 (A)   (B)  

 
 (C)  (D)   

 

Q.2 In an AP if a = 1, an  = 20 and Sn = 399, then n is 
 (A) 19   (B) 21  
 (C) 38  (D) 42 
 

Q.3 The fourth vertex D of a parallelogram ABCD
whose three vertices are A (–2, 3), (6, 7) and
C (8, 3) is - 

 (A) (0, 1)   (B) (0, – 1)   
 (C) (–1, 0)  (D) (1, 0) 
 

Q.4 The value of (tan1° tan2° tan3° ….tan89°) is  
 (A) 0   (B) 1  

 (C) 2  (D) 
2
1   

uhps fn;s x;s Q.1 ls Q.27 rd ds fy, fy, 
,d gh lgh fodYi gS (izR;sd lgh mÙkj ds fy, 
rhu vad gS) 

 

Q.1 fuEufyf[kr esa ls dkSulk ,d f}?kkr cgqin dk 

vkys[k ugha gS ? 

 (A)   (B)  

 
 (C)  (D)   

 

Q.2 ,d l-Js- esa ;fn a = 1, an  = 20 rFkk Sn = 399 gS] rc n gS 
 (A) 19   (B) 21  
 (C) 38  (D) 42 
 
Q.3 ,d lekUrj prqHkqZt ABCD dk prqFkZ 'kh"kZ D ftlds 

rhu 'kh"kZ A (–2, 3), (6, 7) rFkk C (8, 3) gS] gS - 

 (A) (0, 1)   (B) (0, – 1)   
 (C) (–1, 0)  (D) (1, 0) 
 

Q.4 (tan1° tan2° tan3° ….tan89°) dk eku gS  

 (A) 0   (B) 1  

 (C) 2  (D) 
2
1   
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Q.5 In figure if PA and PB are tangents to the circle 
with centre O such that ∠APB = 50°, then 
∠OAB is equal to –  

A 

B

O 50°P

 
 (A) 25°  (B) 30°  (C) 40° (D) 50° 
 

Q.6 In figure, if PQR is the tangent to a circle at Q 
whose centre is O, AB is a chord parallel to PR 
and ∠BQR = 70° ; then ∠AQB is equal to –  

O 

70° 
Q 

A B 

P R  
 (A) 20°  (B) 40°  (C) 35° (D) 45°    
 

Q.7 Area of the largest triangle that can be inscribed 
in a semi-circle of radius r units is - 

 (A) r2 sq. units  (B) 
2
1  r2 sq. units  

 (C) 2r2 sq. units  (D) 2  r2 sq. units   
 

 

Q.8 It is proposed to build a single circular park 
equal in area to the sum of areas of two circular 
parks of diameters 16 m and 12 m in a locality. 
The radius of the new park would be  

 (A) 10 m   (B) 15 m  
 (C) 20 m (D) 24 m 

 

Q.5 fp=k esa ;fn PA rFkk PB o`Ùk dh Li'kZ js[kk;sa gS 

ftldk dsUnz O gS rkfd ∠APB = 50° gS] rc 

∠OAB cjkcj gS –  
A 

B

O 50°P

 
 (A) 25°  (B) 30°  (C) 40° (D) 50° 
 
 

Q.6 fp=k esa ;fn PQR ,d o`Ùk ds Q ij Li'kZ js[kk gS 
ftldk dsUnz O gS] PR ds lekUrj thok AB gS rFkk
∠BQR = 70° gS ; rc ∠AQB cjkcj gS –  

O

70°
Q

A B 

P R  
 (A) 20°  (B) 40°  (C) 35° (D) 45°    
 

Q.7 f=kHkqt dk egÙke {ks=kQy tks r f=kT;k ds v/kZo`Ùk ds 

vUrxZr cuk;k tk ldrk gS] gS - 

 (A) r2 oxZ bdkbZ  (B) 
2
1  r2 oxZ bdkbZ  

 (C) 2r2 oxZ bdkbZ  (D) 2  r2 oxZ bdkbZ   
 

 

Q.8 16 m rFkk 12 m O;kl ds nks o`Ùkkdkj ikdksZ ds 
{ks=kQyksa ds ;ksx ds cjkcj {ks=kQy dk ,d vdsyk 
o`Ùkkdkj ikdZ cukus dk izLrko j[krs gSA u;s ikdZ dh 
f=kT;k gksxh  

 (A) 10 m   (B) 15 m  
 (C) 20 m (D) 24 m 
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Q.9 The diameter of a circle whose area is equal to
the sum of  the areas of the two circles of radii
24 cm and 7 cm is -  

 (A) 31 cm  (B) 25 cm  
 (C) 62 cm (D) 50 cm 

 

Q.10 In the given triangle PQR, angle P is greater than
angle Q and the bisector of angle P and Q meet
in S. Then 

 

Q

R

S

Q/2
PP/2

 
 (A) SQ = SP (B) SQ ≥ SP  
 (C) SQ < SP (D) SQ > SP 
 

Q.11 In the figure, the area of parallelogram ABCD is
24. If CE = 2BC and AB = BF, then what is the
area of ∆BFE ? 

 E 

D C

A FB  
 (A) 24 (B) 72 (C) 48 (D) 36 
 

Q.12 What is the value of  

 
120

1.....
16

1
14

1
12

1
2222 −

++
−

+
−

+
−

 

 (A)  
19
9   (B) 

19
10   

 (C) 
21
10   (D) 

21
11  

 

Q.9 ,d o`Ùk dk O;kl] ftldk {ks=kQy 24 cm rFkk 7 cm 

f=kT;kvksa ds nks o`Ùkksa ds {ks=kQyksa dk ;ksx gS] gS -  

 (A) 31 cm  (B) 25 cm  
 (C) 62 cm (D) 50 cm 
 

Q.10 fn, x, f=kHkqt PQR esa dks.k P, dks.k Q ls cM+k gS 

rFkk dks.k P o Q dk lef}Hkktd S ij feyrk gS] rc

 

Q

R 

S

Q/2
PP/2

 
 (A) SQ = SP (B) SQ ≥ SP  
 (C) SQ < SP (D) SQ > SP 
 
 

Q.11 vkd`fr esa lekUrj prqHkqZt ABCD dk {ks=kQy 24 gSA 
;fn CE = 2BC rFkk AB = BF rks ∆BFE dk 

{ks=kQy gksxk ? 
E 

D C

A FB  
 (A) 24 (B) 72 (C) 48 (D) 36 
 

Q.12 
120

1.....
16

1
14

1
12

1
2222 −

++
−

+
−

+
−

 dk eku 

gksxk 

 (A)  
19
9   (B) 

19
10   

 (C) 
21
10   (D) 

21
11  
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Q.13 If the nth term of an A.P. is 4n–1, find the 30th

term and the sum of first 30 terms. 
 (A) 119 and 1830 (B) 69 and 1665  
 (C) 119 and 1380 (D) none of these 
 

Q.14 In an examination, 1800 candidates were boys

and 2200 were girls. If 42% of boys and 48% of

girls passed the examination, then what is the

overall percentage of candidates who failed ?  

 (A) 45.3 %  (B) 58 %  

 (C) 52 %  (D) 54.7 % 
 

Q.15 Max has 3 dollars more than John has, but
5 dollars less than Maria has. If Max has x
dollars, how many dollars do Maria and John
have altogether ? 

 (A) 2x –8  (B) 2x – 5  
 (C) 2x – 2  (D) 2x + 2 
 

Q.16 An aeroplane at a height of 600m passes
vertically above another aeroplane at an instant
when their angles of elevation at the same
observing point are 60° and 45° respectively.
How many metres higher is the one from the
other ? 

 (A) 286.53 m (B) 274.53 m  
 (C) 253.58 m (D) 263.83 m 
  

Q.17 If sin x  + sin2 x = 1,  
 then value of cos2 x + cos4 x is 
 (A) 1  (B) 2  
 (C) 1.5  (D) None of these 
 
 

Q.13 ;fn l- Js- dk noka in 4n–1 gS rks 30 ok¡ in rFkk 
izFke 30 inksa dk ;ksx gksxk 

 (A) 119 rFkk 1830 (B) 69 rFkk 1665  
 (C) 119 rFkk 1380 (D) buesa ls dksbZ ugha 
 

Q.14 ijh{kk esa] 1800 ijh{kkFkhZ yM+ds o 2200 yM+fd;k¡ 

FkhA ;fn ijh{kk esa 42% yM+ds rFkk 48% yM+fd;k¡ 

lQy gq, rks mu ijh{kkfFkZ;ksa dk dqy izfr'kr D;k 

gksxk tks ijh{kk esa vlQy gq,s ?  
 (A) 45.3 %  (B) 58 %  

 (C) 52 %  (D) 54.7 % 
 
Q.15 eSDl ds ikl tkWu ls 3 MkWyj vf/kd gS ijUrq ekfj;k 

ls 5 MkWyj de gSA ;fn eSDl ds ikl x MkWyj gS rks 

ekfj;k rFkk tkWu ds ikl dqy fdrus MkWyj gksaxs ? 

 (A) 2x –8  (B) 2x – 5  
 (C) 2x – 2  (D) 2x + 2 
 
Q.16 ,d gokbZtgkt 600m dh Å¡pkbZ ij mM+rk gqvk 

nwljs gokbZtgkt ds Åij ls ml le; Å/okZ/kj 

xqtjrk gS tc leku izs{k.k fcUnq ls muds mUu;u 

dks.k Øe'k% 60° o 45° gS] rks igyk gokbZ tgkt] 

nwljs gokbZ tgkt ls fdrus ehVj dh Å¡pkbZ ij gS ?

 (A) 286.53 m (B) 274.53 m  
 (C) 253.58 m (D) 263.83 m 
 
Q.17 ;fn sin x  + sin2 x = 1rks cos2 x + cos4 x dk eku gS
 (A) 1  (B) 2  
 (C) 1.5  (D) buesa ls dksbZ ugha 
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Q.18 What is the greatest number which when

subtracted from 3000, is exactly divisible by

7, 11 and 13 ? 

 (A) 1999  (B) 3000  

 (C) 10001  (D) 3050 

 
Q.19 The equation of the diagonal through the origin

of the quadrilateral formed by x = 0, y = 0, x + y = 1
and 6x + y = 3, is  - 

 (A) 3x + 2y = 0 (B) 2x + 3y = 0  
 (C) 2x – 3y = 0 (D) 3x – 2y = 0 
 

Q.20 The diameter of a right circular cone is increased
by 10% and its height is decreased by 10%. The
percentage increase in its volume is- 

 (A) 3.9%  (B) 5.9%  
 (C) 8.9%   (D) 10% 
 

Q.21 In the figure given below, the value of x is, if
∠PQR = 70° 

x 75º

S

35º

P

R

Q

 
 (A) 35º  (B) 70º  
 (C) 75º  (D) 80º 
 
 
 

Q.18 og cM+h ls cM+h la[;k D;k gksxh ftls 3000 esa ls 

?kVkus ij og 7, 11 o 13 ls iw.kZr% foHkkftr 

gks tk,s ? 
 (A) 1999  (B) 3000  

 (C) 10001  (D) 3050 

 
Q.19 x = 0, y = 0, x + y = 1 rFkk 6x + y = 3 }kjk fufeZr 

prqHkqZt ds ewyfcUnq ls gksdj xqtjus okys fod.kZ dk 

lehdj.k gksxk - 
 (A) 3x + 2y = 0 (B) 2x + 3y = 0  
 (C) 2x – 3y = 0 (D) 3x – 2y = 0 
 

Q.20 ,d yEco`Ùkh; 'kadq ds O;kl esa 10% dh o`f) djus 

ij rFkk bldh Å¡pkbZ esa 10% dh deh djus ij 

blds vk;ru esa fdrus izfr'kr o`f) gksxh \ 
 (A) 3.9%  (B) 5.9%  
 (C) 8.9%   (D) 10%  
 

Q.21 uhps nh xbZ vkd`fr esa x dk eku] ;fn ∠PQR = 70°
gS] gksxk – 

x 75º

S

35º

P

R

Q

 
 (A) 35º  (B) 70º  
 (C) 75º  (D) 80º 
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Q.22 In the figure given below, If a = 75º, b = 135º 

and c = 30º. The value of x, is – 

 

b

y x 

c 
z 

BA

D

C
a

 
 (A) 45º  (B) 30º  

 (C) 75º  (D) None of these 
 

Q.23 The 5th, 8th and 11th terms of a G.P. are a, b, c 

respectively, then which one of the following is 

true - 

 (A) 2b = ac  (B) b2 = ac  

 (C) a + b + c = 0 (D) None of these 
 

Q.24 A car travels three-fourth of the distance at the 
speed of 25 kmph and the remaining distance at 
the speed of 10 kmph. What is the average speed 
of the car for entire journey ? 

 (A) 12.5 kmph  
 (B) 21.25 kmph  
 (C) 17.75 kmph  
 (D) None of these 
 

Q.25 The value of 16 sin 144º sin 108º sin 72º sin 36º is 

equal to   













 +
=°

−
=°

4
521018cosand

4
521036sin

 (A) 5  (B) 4  

 (C) 3   (D) 1 
 

Q.22 uhps nh xbZ vkd`fr esa ;fn a = 75º, b = 135º rFkk

c = 30º gS] rks x dk eku gS – 

b 

y x 

c 
z 

BA

D

C
a

 
 (A) 45º  (B) 30º  

 (C) 75º  (D) buesa ls dksbZ ugha 
 

Q.23 ,d xq-Js- ds 5osa, 8osa rFkk 11osa in Øe'k% a, b, c gS] 

rks fuEu esa ls dkSulk ,d lR; gS - 

 (A) 2b = ac  (B) b2 = ac  
 (C) a + b + c = 0 (D) buesa ls dksbZ ugha 
 
Q.24 ,d dkj nwjh dk 3/4 Hkkx 25 fdeh@?kaVk dh pky ls 

rFkk 'ks"k nwjh 10 fdeh-@?kaVk dh pky ls r; djrh gS] 
rks lEiw.kZ ;k=kk djus esa dkj dh vkSlr pky D;k gksxh ?

 (A) 12.5 fd-eh-@?kaVk  
 (B) 21.25 fd-eh-@?kaVk  
 (3) 17.75 fd-eh-@?kaVk  
 (4) buesa ls dksbZ ugha 
 

Q.25 16 sin 144º sin 108º sin 72º sin 36º, 

         











 +
=°

−
=°

4
521018cosand

4
521036sin  

 dk eku gS 
 (A) 5  (B) 4  

 (C) 3   (D) 1 
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Q.26 If A = (6, – 1), B = (X, Y) and P = (–2, 3) are 

lie on the straight line and AP : PB = 3 : 2, 

then the coordinate of (X, Y) is -   

 (A) (22/3, 17/3) (B) (2/3, –17/3)  

 (C) (–22/3, –17/3) (D) (–22/3, 17/3) 
 

Q.27 How many times the digit zero would appear 

in the sequence of whole numbers upto (and 

including) 100 ? 

 (A) 10  (B) 9  

 (C) 11  (D) 12 

 

Q.28 to Q.30 Given below are passage 

based questions, each has Single correct 

answer. (Each correct answer carries three 

marks) 
 

Passage based Question : (Q.28 to Q.30) 

 For the given quadratic polynomial  

 y = f (x) = ax2 + bx + c, roots are those values 

of x for which f (x) = 0. These roots can be 

calculated by using the formula  

x = 
a2

ac4bb 2 −±−  

 If b2 – 4ac < 0, then the polynomial does not 

intersect the x-axis. i.e having no real roots. 
 

 

 

 

 

 

Q.26 ;fn A = (6, – 1), B = (X, Y) rFkk P = (–2, 3) 

ljy js[kk ij fLFkr gS rFkk AP : PB = 3 : 2 rks 

(X, Y) ds funsZ'kkad gksaxs -   

 (A) (22/3, 17/3) (B) (2/3, –17/3)  

 (C) (–22/3, –17/3) (D) (–22/3, 17/3) 
 

Q.27 100 ¼;g Hkh lfEefyr gS½ rd dh iw.kZ la[;kvksa ds 

vuqØe esa 'kwU; vad fdruh ckj vk,xk ? 

 (A) 10  (B) 9  

 (C) 11  (D) 12 

 
 
 uhps fn;s x;s Q.28 ls Q.30  x|ka'k ij vk/kkfjr 

iz'u gS] izR;sd dk ,d lgh fodYi gS (izR;sd 
lgh mÙkj ds fy, rhu vad g S) 

 
 
 
 

x|ka'k ij vk/kkfjr iz'u: (Q.28 ls Q.30) 
 

 fn;s x;s f}?kkr cgqin   
 y = f (x) = ax2 + bx + c ds fy,] blds ewy x ds 

eku gksxs ftlds fy;s f (x) = 0 gSA ;g ewy nh;s 
x;s lw=k ds iz;ksx ls Kkr dj ldrs gSA   

x = 
a2

ac4bb 2 −±−  

 ;fn b2 – 4ac < 0 gS] rc cgqin x-v{k dks 

izfrPNsfnr ugha djrk gS vFkkZr~ dksbZ okLrfod 

ewy ugh j[krk gSA  
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   Q.28 What are the roots of the quadratic 

polynomial f (x) = x2 – 5x + 6 - 

 (A) –2, –3  (B) 2,3  

 (C) 5,6  (D) None of these 
 

Q.29 Is the polynomial f (x) = x2 + x + 1 intersect 

the x-axis ? if not then the imaginary roots 

will be :  

 (A) Yes at x = –1 & + 1      

 (B) Yes at x = –1 & 0  

 (C) No, imaginary roots are  

   
2
1−  + 

2
3−  & 

2
1− – 

2
3−     

 (D) No, imaginary roots are  

  
2

31 −− & 
2

31 −+   

 

Q.30 What is the common roots of the quadratic 

equations x2 – x –2 = 0 & x2 – 5x + 6 = 0   

 (A) –2   (B) –1  

 (C) 0  (D) 2 

 
 

 
 

 

Q.28 f}?kkr cgqin f (x) = x2 – 5x + 6 ds ewy D;k gksxsa - 

 (A) –2, –3  (B) 2,3  

 (C) 5,6  (D) buesa ls dksbZ ugha 
 

 

Q.29 D;k cgqin f (x) = x2 + x + 1 ; x-v{k dks 

izfrPNsfnr djrk gS ? ;fn ugha rks dkYifud ewy 

gksaxs :  

 (A) gk¡] x = –1 & + 1 ij      

 (B) gk¡] x = –1 & 0 ij  

 (C) ugha, dkYifud ewy  

   
2
1−  + 

2
3−  & 

2
1− – 

2
3−  gksaxs  

 (D) ugha, dkYifud ewy   

  
2

31 −−
 & 

2
31 −+  gksaxs 

 

Q.30 f}?kkr lehdj.kksa x2 – x –2 = 0 o x2 – 5x + 6 = 0 

dk mHk;fu"B ewy D;k gksxk   

 (A) –2   (B) –1  

 (C) 0  (D) 2 
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 PART : 4  LOGICAL APTITUDE 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 In each part of this question, four alternatives

are given of which only one is correct. Select

the correct alternative and write down the

corresponding letter A, B, C, or D in your 

answer sheet against the question number :

        [10 x 3 = 30] 

 

Q.1 Find the missing term in the following series : 

 2, 3, 5, 7, 11, ..........., 23 

 (A) 12 (B) 13   

 (C) 14 (D) 15    
 

Q.2 Find the missing term in the following series : 

 6, 9, 18, 21, 42, 45, ......... 

 (A) 93 (B) 90   

 (C) 98 (D) 96 
 

Q.3 The following question are based on the letter 

series. In each series some letters are missing. 

The letters in the series are arranged in a proper 

sequence. Find the sequence and encircle the 

correct group of letters given in the choice 

  - bcb - c - - cb - c 

 (A) bbbbb (B) bccbc  

 (C) ccbcb (D) cccbc 

 
 

 bl iz'u ds izR;sd Hkkx esa pkj fodYi fn;s x;s gSaA 

ftuesa ls flQZ ,d lgh gSA lgh fodYi pqfu;s vkSj 

mÙkj esa iz'u la[;k ds lEeq[k lacaf/kr v{kj A, B, 

C ;k D vafdr dhft,A   

    [10 x 3 = 30] 

 

Q.1 fjDr in Kkr dhft, & 

 2, 3, 5, 7, 11, ..........., 17 

 (A) 12 (B) 13   

 (C) 14 (D) 5    
 

Q.2 fjDr in Kkr dhft, 

 6, 9, 18, 21, 42, 45, ......... 

 (A) 93 (B) 90   

 (C) 98 (D) 96 
 

Q.3 ;g iz'u v{kjksa dh fo'ks"k Js.kh ij vk/kkfjr gSA 

izR;sd Js.kh esa dqN v{kj fjDr gSA v{kj ,d fuf'pr 

Js.kh esa tesa gq, gSA fjDr inksa dh Js.kh Kkr djks &

  − bcb − c − − cb − c 
 

 (A) bbbbb (B) bccbc  

 (C) ccbcb (D) cccbc 
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Q.4 In the following section, each question consists 

of five sets of group of letters in which one is 

different from the other four. Find the one which 

is different 

 (A) REWSNA (B) ESICREXE 

 (C) ELPMAXE (D) STUVGHI 
 

Q.5 If FLOWER is coded GMPXFS, then GARDEN 

is coded as  

 (A) HSBFEO (B) HBSEFO 

 (C) ICTFGP (D) NEDRAG 

Q.6  
 

 
 The number of hexagons in the above diagram is

 (A) 0 (B) 1   

 (C) 2 (D) 3    

 

 Study the following figure and choose the correct 

answer of the following question (Q.7 to Q.9) 
 

 
 

 

Q.4 izR;sd iz'u esa ikap 'kCnkssa ds lewg fn;s x;s gSA buesa 

ls ,d lewg vU; pkjksa ls fHkUu gS rks fHkUu lewg 

gksxk & 

 (A) REWSNA (B) ESICREXE 

 (C) ELPMAXE  (D) STUVGHI 

 

Q.5 ;fn FLOWER dks fy[kk tkrk gS GMPXFS, rks 

GARDEN dks fy[kk tk;sxk & 

 (A) HSBFEO  (B) HBSEFO 
 (C) ICTFGP  (D) NEDRAG 
 

Q.6  

 
 bl fp=k esa fdrus "kVHkqt gS & 

 (A) 0  (B) 1   

 (C) 2 (D) 3    
 

 uhps fn, x, fp=k dk /;kuiwoZd v/;;u djrs gq, 

fuEu  iz'uksa ds mRrj nhft, (Q.7 to Q.9)  
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Q.7 The number of parallelograms in the above 
figure is 

 (A) 6 (B) 7   
 (C) 8 (D) 9  
   
Q.8 The number of triangles in the figure above is  
 (A) 10 (B) 12   
 (C) 14 (D) 16    
 
Q.9 The number of pentagons in the above figure is 
 (A) 3 (B) 4   
 (C) 5 (D) 6   
  
Q.10 The following question is based on sets of

numbers in a certain order or logic. Candidates
are required to find out a similar set from the
choice which  corresponds to the set given in the
question 

 The given set is (4 , 16, 36) 
 (A) (8,13, 18) (B) (7,12, 15) 
 (C) (5, 10, 15) (D) (15, 24, 35) 
  

 

Q.7 fn;s x;s fp=k esa fdrus lekUrj prqHkqZt gkasxs & 
 (A) 6 (B) 7   
 (C) 8 (D) 9  
 

Q.8 fn;s x;s fp=k esa fdrus f=kHkqt gksaxs & 
 (A) 10 (B) 12   
 (C) 14 (D) 16 
 

Q.9 fn;s x;s fp=k esa fdrus iapHkqt gksaxs & 
 (A) 3 (B) 4   
 (C) 5 (D) 6 
 

Q.10 bl iz'u esa fn;s x;s lewg dh rhuksa la[;k,sa ,d 

fuf'pr Øe esa gSA ml ;qXe dk irk yxkb;s ftldk 

Øe fn;s x;s lewg ds Øe dh rjg gSA fn;k x;k 

Øe gS (4 , 16, 36) 
 (A) (8,13, 18) (B) (7,12, 15) 
 (C) (5, 10, 15) (D) (15, 24, 35) 
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STANDARD ANSWER KEY 
SAMPLE TEST PAPER   

 

PHYSICS 
Ques. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
Ans. D B B B C D C B C D C C C A D

Ques. 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
Ans. B D A A C B A B C C C D C C C  

 
 

CHEMISTRY  
Ques. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
Ans. B A D B B C B A A C C C C B A
Ques. 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
Ans. D B C C A D C A D B A B B C C  

 
 

MATHEMATICS 
Ques. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
Ans. D C B B A B A A D D D C A D D
Ques. 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
Ans. C A A D C A B B D A D D B C D  

 
 

LOGICAL APTITUDE  
Ques. 1 2 3 4 5 6 7 8 9 10
Ans. B B A D B B D C D D  

 
 

 
 
 
 
 
   


